Aerial Cam Unit

- UCIISG -

B - UCMSG65 (00" ~ 60° )

15+0.05 140+0.02 2-¢10H7
(Tolerances are from dowel pin hole.)
8 <Ol' 7_$ @ - B
5 =]
AN A
I [Te)
I
™
(A 20H7
N
- 50+0.05 _|(Tolerances are from key groove.) 4-413-¢20
” 170
©
OB
6.3
LO
N
a
Lo
N~
o
®
@
® | o
63
@

=
)
=
B
o
8
3
=
S
=

8
o
+l
[fe)
o~
8 2 - e
A4 2-410H7
15+0.05 90+0.02 4-¢13-¢20

(Tolerances are from dowel pin hole.)

- J

N AT oo
. Email : mk@asianadvanced.co.th




Aerial Cam Unit

- UCIVISG -

W 0 S A B C D E F
0 15.00 170.00 60.00 115.00 58.00 -70 100.00
5 15.60 170.36 67.22 107.78 57.10 -65 105.36
10 15.60 175.07 69.88 105.12 61.10 -62.5 112.57
15 17.00 174.09 72.92 102.08 65.30 -55 119.09
B-UCMSG65 20 18.40 172.40 76.28 98.72 70.20 -45 127.40
30 19.50 171.78 83.71 91.29 78.10 -35 136.78
40 23.10 163.07 91.63 83.37 84.50 -20 143.07
50 24.90 170.00 104.50 70.50 91.10 -5 151.22
60 32.00 146.29 116.78 58.22 103.10 15 161.29
l Table of Components
No. Description Qty | Material and Remark
@ Cam Holder 1 | HT250
(2 | cam Slider 1 | HT250
(@) | cam Dirver 1 | HT250
(®) | Slide Plate 2 | Bronze
(®) | Coil Spring 1
@ Positive Return Follower A | 1 | 45
Positive Return FollowerB | 2 | 45
(9) | Cam Slide Guide 1 | Bronze
Stopper Plate 1 | Q235
A2 | Spring Block 1 | Q235
@ Urethane Stopper 2 |310x5
Hexagon Socket Head Bolt | 4 | LSC-M8-18
@ Hexagon Socket Head Bolt | 2 | M 8 x 20
Hexagon Socket Head Bolt | 2 | M 10 x 30
Hexagon Socket Head Bolt | 2 | M 8 x 16
—
S
=
Option Code Specification r:':
K De_dicated key is attached. _ _ -E
(It is not assembled to the main unit. g

Order No :
Catalog No. | | (W) | - | (9) |
B - UCMSG 65 - 60

rooroweozcowos A I ¢ I
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- UCIISG -

Working Force kN(tonf) Spring Force N (kgf)
CatalogNo. | (W) | (g) | g | Standard | AMlowable HeAEL LR
Working Working | |hitial Load | Final Load 9
Force Force
(one million strokes) | (300,000 strokes)

2454 834.9

00 15.0 (25.0) (85.1) 10.7
278.3 834.9

05 (28.4) (85.1) o,

15.6

10 10.2
236.8 828.8

1| e (24.1) (84.3) 00

29.4 58.8 '
B-UCMSG | 65 20 184 (3.0) (6.0)

30 19.5 9.6
176.0
18.0

40 231 ( ) 00 9.5

50 | 24.9 (62.6) 9.9

' 246.4 '

25.1

60 32.0 ( ) 11.1

Cam Diagram
00° 0b° 10°

AQ"

(23} o — Q —
= ® ©
3 Y e
[0 1) %) °
15.6 ° :
15.0 > o Tfave/
Travel ravel
- 15° 20° 30°
= S
- "LQ — \\0 P> — \o \9
) g\ 2 \® < \o
—_— ol & © g |«
() o= = o] &
% —1 3 4 Ts} l:)
(0] o [0 ° -
S N e g 2
= %/ A 164 SN 529 & /8
E. Trave/ ral/e/ el/@/
—
40° . 50° 16 60° 16
R : .
3 - 2 g
= © ~| &
%] = P ~ —
& 3 = A 2\2 N2 S
Il YE /% %% N1k BSO\RLY;,
1/@/ S > [an

-‘l AAT ADDTTIONALE DIE COMPONENTS

Email : mk@asianadvanced.co.th



Aerial Cam Unit

- UCIVISG -

Spring Diagram

00° 05° 10°
834.9 834.9 828.8
B\ [ ©5.1) ©4.3)
637.6 ¥ " 6578 fooooTTTCC 639.4
(65.0) (67.1) (65.0)
_2454 | 2783 | _______ 2368 |
(25.0) p | (28.4) 7 | (24.1) / [
Length g{ final load 56 7.8(Punch return: 5 mm) Length gtﬁna\ load 56 7.0(Punch return: 5 mm) Length at final load 48 L6.4(Punch return: 5 mm)
= =T ) 1 -
Length at initial load 79.3 Initial deflection 9.7 Length at initial load 78 Initial deflection 11 Length at initial load 68 Initial deflection 8
Free length 89 Free length 89 Free length 76
[ TJL25-89 ] [ TJL25-89 ] [ TJL25-76]
15° 20° 30°
828.8 8228 [N\ 809.6
(84.3) (84.3) (82.6)
6542 forroooIoy 669.0 JfoorIooIIE 647.7
(66.5) (68.0) (66.1)
2368 | | 2368 | _______| _ 1760 |
(24.1) " | 24.1) I | (18.0) " 1
Length étfma\ load 48 5.9(Punch return: 5 mm) Lenglhlgﬁma\ load 48 5.4(Punch return: 5 mm) Length at final load 41 LA 6 (Punch return: 5 mm)
— T — 1 — 1
Length at initial load 68 nitial deflection 8 Length at initial load 68 Initial deflection 8 Length at initial load 59 nitial deflection 5
v wl
Free length 76 Free length 76 Free length 64
[ TJL25-76] [ TJL25-76] [ TJL25-64 ]
40° 50° 60°
809.6 809.6 809.6
(82.6) (82.6) \ (82.6)
672.3 697 I N 721.6
(68.6) (71.1) (73.6)
176.0 2464 | ________ 2464 | ____]
(18.0) " 1 (25.1) y (25.1) I
Lengh it nalload 1 | _3.9(Punch return:’5 mm) Lengthatfinelload 41| | 3.2(Punch return:'5 mm) Lengiatfna oad 1| | 2.5(Punch return:  mm)
— T - T
Length at initial load 59 |nitial deflection 5| Length at initial load 57 _ \_”H“a‘ deflection 7 Length at initial load 57 Initial deflection 7
—= T ——=1
Free length 64 Free length 64 Free length 64
[ TJL25-64 ] [ TJL25-64 ] [ TJL25-64 ]

=
—]
=
<
(]
c
=
@S
=

rooroweozcowons A I | N
Email : mk@asianadvanced.co.th

ASIAN ADVANGED TEGHNICA GO, LTD.




